UNIaswALGEBRA e

More about equations.
Example1 Method A

Solve 4y -3 = x + 6
4 -3 =x+ 6 Eliminate x from
Eliminate -3 —x —x the right hand side
from the left hand 3x -3 = + 6 by adding its own
side by adding its ";‘:;;S:id);:"
. o .
by ORI
+ 3 + 3 Divide each side
13 = 39 by 3 in order to
21 84 leave onl
y X.
x = 3
Method B
Solve: 4x - 3= x + 6
44 - 3 =x + 6
4 - 343 =x + 6 + 3
4x =x + 9
4r - x =x-x+9
‘ 3x =9
13 = 9 3 Note: For questions which
3 1 34 have brackets, first
X =3 remove the brackets.
Exercise 14:35 Solve:
1. 2&r + 4 = x + 11 6. 7x — 4 =3x + 8
2. 2x -4 =x + 4 7. 9% - 7 =5¢x +13
3. &t -7 =1x+ 1 8. 6x - 8 =4xr + 4
4, 3xr + 5 =2x + 7 9. 5x + 7 = x +27
5. S+ 1 =4+ 4 10. 11x+ 3 = x +33
Exercise 14:36 Solve:
1. 4 - 3= 2+ 9 8 T(r-2) = x+10
9. 5 + 4= 3r- 8 7. 2(4x+ 4) = (4x— 12)
3. 2(x +4)= x+10 8. 6(x — 1) =4(r - 12)
4. 3(x -2)=2(x- 1) 9. 3(x - 1) =2(x+ 1)
5. 5(r -2)=2(x- 2) 40, G(x +4)=8(x- 2)
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